

[image: image1.png]@ HtsE. ot =g

) BEEM: aa"=a™ ’;—:a" () =a (@) =as

@1 =n @og,? =5 B =N

“iog, ¢ @log, ¥ =log - og

@ wrsg v B g eg =1
Te.
m.
) R ORE: xOREEE @ y OREEE

@RAL: &> 0 U ()> £(x), (1) T8 RS

050 U O (). (VRS LRI B
@Rt
EHTF vre DA~ re Dy FE(-2)=1 (x). WS (1) HBEH EHEXT ) Btk

EHTF vre DL- xe Dy e (1) = =7 (x). M (x) Ao CEHREF b

@ —Eke p=bitd  B0dp=br. HEEH

(> OENREE (~eos 0} (0 o) LSBISERY)
(<0, EUSEE (o0 0 ) (0 rvos) L iEIEHE)
@ @ p=ar +hrro=0(a20)
© Bb=0v. AREK
3

@ ma [—M,A""” ]

& tuEs. y=aa>08ast)




[image: image2.png]Da>1 Sl . @0cac<l REHE.
® sEs y=lg (a>0Bes) o)

log a=1

D ABHEIARRORL. DERFE HITIFO
DR HAMATIFO
@RS AF0
@EREFEAN, BITHRE

@ 5H,
D 5L

DAL,

Bl 1K T

5. 1
L BEHIL s,

are
=

D#min=prfle +a,

2. Fucko @3, =ag"

(1-9") _a-a,

g g
©fmin=p+olla,=ag ® Emin=2pleq,
5 =Rk
TR
W mrn (B
s

@ gilaEAEETOTE: (8|8 =a+k 360 ke 2}




[image: image3.png](3 SIRMAPETHE:

B ghARS [a\?kn<a<2kn+ kzZ]
e, s cncsiensed]

SzsRAemS: [airrs<a<dine D ke z]

FEERANES. [a\zkn+32—”<a<zkn+2n,kiz]

) RIESRESREIF. 7 =180

(5) ZMAMMEIL.
sinc=2 cose =2 tanc=2  cotar=3,5eca=" 0000 =1
e Py
FEMOR. ST, ZER. . BRE
© WAt

MRk OHBHR, tna cota=1
@FFER: sl areost o=

[ L

RS AR “GERTE, ARESI
SR 00"k, 0ok
B, 040, 1800k 0 e

©) RS . L

Dsin(ai ) =sincicos § toosasin g Qeos(at f) = cosaices 7/ sinasing

tanar e 8

fenrsroyd @sin2a=2sinasin g

Btan (ot 6) =




[image: image4.png]~Zirta

Bros2a = cos® a-sir @ = Joos o -

2tane s st 1T leossla
® k- T ORELK = =
a b _ ¢

IOERRE: e

)RR ' =btrot - Booosd

B =at+¢t-daccwB

ot =a +h-2aboss C

aebt-ct aet bt Baeto
o= 8 cosg= T med=t2

h. FEAS:
D
2L

BF e
@3k
Dizk.

DRI abe blpls (b5 400,

DilpiEt: DOA=ri+y =(xy) @hl=lodl= F 5

BRAERAKB|= (5 1) +(a-p)  @ab=(ntrpty)

VTS T Y ©a L5 wxtpn =0
R 4

ST TN
ovsmaek (x-23 3]

. He
Dt k=tna(a=909

-»

PHELR: k=tma =

n#n)

DT
CHARE:  (y=krth (@ -po=klr-x)

e





[image: image5.png]@ el

TR

) Ar By +C=0

DEEAR:  p=hrthl, p=kyrtd,

®6. k=kBh=b, T k=kAb=b, 8. kE,
BEE 4.
© ANESOEES K. £ P(n) HE S AeBy+Co0 HEE
PR
N

@ FERAZAGER. | By C =0l AxeBy +C=0

4ola=al
JEE
@ mamELR:|48 = 5]+
=
® gnR: (r-a)+(p-b)=rt

D —WANE: X4yt +Dr+By +F=0

® UHE— SN 1,70
© HASEMRENR 1 ERELIESHES
Otz d<rA>0 QML d=r,h=0 BEE d>r,A<0

® ESEMEEXF: «  ERRENELPNES:
O d>ntn QEAW d=ntn BREL 5on<d< gy

@ApL d=ron, @& 0<d<n-r, (Eob. HELED

e

Dreis: |45
2. mhE
@ AL DE

o Ll (AT LAl R AL)




[image: image6.png]e o=t @ x=tL @kRR o =b 4

W M O

o LT AT BE Ll
eEeE o=t [

D Wit )=i§x

® BT DFLE
[E

2 oM p=tr

DR ' =2px, ﬁsﬂem[

w2 o

2 g 5]
2 ﬁ)éhm:[n,z

(0 F
ﬁs;em[n, 5]

DELE e=1 @ o HTR S SIS ES
@ wask. 4= 1+ [(n+n) - 4nn,]

+=8. RESEE.

® Wl ET=n(n-l)n-2) (nomel) B

(r-1)(n-2)-321

~2)-n-m+)

= w8 o





3
7

